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KHONG VIET

A. Tofu

Question 2. Which of the following is the main function of the human skeleton?
A. Respiration

B. Support
C. Movement
D. Digestion
Question 3. What kind of energy does the sun provide?
A. Geothermal energy B. Solar energy
C. Wind energy D. Wave energy
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Question 4. A scientist wants to know how a certain fertilizer
affects the growth of tomato plants growing in two different soils.
What conclusion can be drawn from the graph shown on the right?
A. Soil 1 and Soil 2 are the same.

B. The fertilizer has a greater effect in Soil 1.
C. The fertilizer has a greater effect in Soil 2.
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D. Soil 1 absorbs more fertilizer than Soil 2. il sz | =T =2
Question 5. What is the symbol for the national border on a map? Fertilized Unfertilized
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Question 6. A solution is a mixture that combines a e G

solute and a solvent.

A. separate (not joined, not related)

B. heterogenous (consisting of many different things) ) >

C. solid (firm and hard) ‘

D. homogenous (consisting of things of the same type)

Question 7. What activity is described in the image on the bronze drum in King
Hung’s time?
A. Rice pounding
B. Festival dancing
C. Performance singing
D. Sword fighting

Question 8.  Which in the following ones is the natural reason that creates air pollution?
A. Air emission from plants B. Air emission from volcanoes
C. Air emission from transportation D. Air emission from waste burning
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KHONG VIET

VAO DAY

Thi sinh khdng viét vao chd gach chéo nay

Question 9.  Which of the following countries lies in the Southern hemisphere?
A. Egypt B. France C. Viét Nam D. Australia

Question 10. An English proverb says: “Lose a battle, but win a war.”
Which of the following historical events best matches the proverb above?
A. The retreat from Thang Long in the war against the Mongolian Army during the Tran Dynasty
B. The battle of Nhu Nguyét against the Chinese Song (nha Téng) Army during the Ly Dynasty
C. The battle of Péng Pa against the Chinese Qing (nha Thanh) Army during the Tay Son Dynasty
D. The Can Vuong Campaign against the French Army during the Nguyén Dynasty

Question 11. We use the numbers 1, 2, 3, 4, 5, 6 (each number is
used only once) to fill in the circle in the picture on the right. The
sum of three numbers on each side of the triangle is 10. If number
1 is put in the circle as shown in the picture, which number is in O

the darkened circle?
A.6 B. 4 . b
C.3 D.2

<

Question 12. Bat follows the instruction to finish this process below.

Start with 10

\ 4

Subtract 7

A

Wrong
Greater than 100 Finish
Which of the following results does Dat finish with?

A. 108 B. 128 C. 136 D. 192
Question 13. Four friends make predictions on the result of a race for 4 runners An, Binh, Cuong, Dling:
- An finishes second; Binh finishes third.
- Binh finishes second; Cuong finishes fourth.
- Cuong finishes third; Diing finishes second.
- Diing finishes first; Binh finishes third.

Four runners finish in four diferrent positions, and each friend has one correct prediction, and one wrong
prediction. Which position does An finish?

A. First B. Second C. Third D. Fourth
Question 14. What area is the darkened image A in the grid?
A. 3,75 (units)

v

Multiply by 8

B. 3,5 (units) £
C. 3,25 (units) :
D. 3 (units) iz

le—1unit
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KHONG VIET

Thi sinh khong viét vao chd gach chéo nay

Question 15. What does the sign on the right say?
A. Hide yourself here when playing ‘hide and seek’.
B. Hold the legs of the table to keep your balance.
C. Get under a table in case of earthquake.
D. Stay side by side to support each other.
Question 16. Choose the best response to fill in the blank. s,
Beverly: The party is at 6:30. Can you bring some music?

Amanda:

A. I’d love to, thanks. The music is great! B. Sure! You can use my dance CDs.

C. I’'ll be there with some good food. D. We’ll play some fantastic games.
Question 17. Choose the word that fits the blank to make a meaningful sentence.

The teenage band’s first was a real success.

A. appeared B. performer C. performances D. appearance

Question 18. Chon cau c6 diu cau dugc dung dung:

A. Lan va Mai ra nhau cung di tham c6 gido ci:

B. Hoa phuong né d6 ruc nhu nhitng ¢ém hia.

C. Vi sao nhiing con mwa mua hé thudong nhanh dén nhanh di.

D. Me hai tdi c6 thich quyén sach ay khong?

Question 19. Chon tir thich hop dién vao chd tréng dé lién két cac cau trong doan sau:

Ngam sao la mét niém vui trong nhitng dém miia hé. Méi dém ngwdéc nhin 18n bau troi, tw cho phép tam tri
minh dao choi hét vi sao ndy sang vi sao khac 1a mét trai nghiém thdt sw rdt ki thi.  khéng c¢é dém mia hé
NAo gidng dém miia hé nao.

(Trich Ching ta séng dé ldng nghe, Nguyén Phong Viét, NXB Tre, 2023)

A. Hay B. Con C. Vi D. Vé
Question 20. Chon dong giai thich dung nghia cua tir in dam trong cau sau:

‘Mui d@at am, mii cé non, mli hat gidng dgi dat nay mam, mui hoang hodi than tro miia vy, ... /an vao nhau roi
moi khi gi6 nai 1én, chung cugn tron bay mdi den lung hing dong séng thi duing lai, quanh thanh 16p khoi mién
man.

(Theo Li&r Mai, Mua hoa khoi trén song, trong Ha Ngi khéng véi dwroc ddu, NXB Van hoc, 2019)

A. Tré nén dic sét nhu dinh lai véi nhau thanh khéi

B. Di chuyén dén véi sb lugng 16n trén mot dién rong

C. V& vun ra thanh manh nho, khéng con nguyén ven

D. Phan tan ra vé cac phia, cac huéng khac nhau

- HET ---
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